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A) Do you agree/disagree with the following statements.

1) Owner of the business does not have any utility.
2) Dual aspect means every transaction has two effects i.e. debit and credit.
3) GST generates income to central Govt. only.
4l Ledger posting is done before journal entry.
5) Credit Purchase of goods is recorded in purchase book .

B) Answer in one sentence.

1. What is cheque?
2. What is Book -Keeping?
3. What does AS-2 stand for?

. 4. What are examples of fixed assets?
5. What is subsidiary books?

c) select the appropriate option and complete the sentence. (05)

1. Cash flow statement is prepared & presented for the period for which the profit & loss account as
. per

a) As-3 blAS-5 c)AS-10 D)As-2

2. A person to whom amount of money is payable is called as
a) Debtor b) Creditor c) Bankrupt d) None of the above

3. Purchase of animals for cash should be debited to
a) Livestock b) goodsc) cash d) bank

4. Left hand side of an account is called as _ side.
a) Credit b)debit c) middte d) centre

5. The person who draws the cheque.
a) Drawee b) drawerc) payee d) none ofthe above

Q.2 ) Give accounting equations for the following transactions.

1. Mr. Vaibhav started business with cash worth Rs. 100000/-

2. Purchased goods on credit from Rita stores Rs. 9000/_

3. Purchased laptop for office use Rs. 10000/-

4. Sold goods to Rina on credit Rs. 12000/-

5. Received interest Rs.2500/-.

(05)

(0s)

(0s)
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Q. 3 Journalise the following transactions in the books of Mihir Traders for the month of January,
2024. (10)

1s Mr. Mihir started business with cash Rs.45000/- and goods worth Rs.25000/-

5th Cash purchases Rs.150@/- with GSI @12%

14th Purchased goods from Swami & Co. worth Rs. 12000/- less 5?6 T.D. with L2%GST.

15rH Cash paid for wages Rs.5000/- & salary Rs. 10000/-

18s lssued cheque to Swami & Co. for Rs.4900/- & he allowed us discount of Rs. 100/-

Q.4) From the following tnnsactions prepare following ledger accounts.

l)Cash Alczl Bank A/C 3) Purchase AlC4'l Sales A/C 5) CapitalA/C

July 2019

ls.started business with cash Rs.15000/- & Bank Rs. 20000/-.

4s Purchased goods worth Rs. 9000/- less 10% cash discount

gh Sold goods to Amol Rs.30O0/-

12s Bought stationery Rs.4000/-

15s Aashish sold goods to us worth Rs.3000/-

20d'settled Aashish's A/C ,he allowed discount @5% cash discount.

25u' Withdnwn from ATM Rs 5000/- for office use & Rs. 3000/- for personal use.

Q.5) Enter the following tr:tnsactions in the books of Vishnu in Purchase book, Sales Book, Purchase
Return Book, Sales Return Bookforthe month ofAugust 2A13.

1* Purchased goods from Meen Rs.180@ @5% Trade discount.

sth Sold goods to Maya worth Rs. 8000 @ 5% Trade discount.

18& Purchased goods of Rs. 15000 and paid for carriage Rs.500.

20s Received a credit note from Meera for goods returned Rs. 2000 (Gross)

25s Received goods returned from Maya Rs 500

28s Placed an order for goods worth Rs. 15000 with Mr. Parekh.

29th Sold goods worth Rs. 7000 to Patil bros.

3Oh Purchased Furniture worth Rs. 10000 from Woodmart .

(10)

(10)
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Q.l.Assertion and Reasoning. (05)

l. Assertion: - Adam smith is regarded as 'Father of Economics'.

Reasoning: - Adam smith wrote the book An inquiry into the nature and causes of Wealth

of Nation' in L776.

Options- 1. (A) is true but (R) is false

2. (A) is false but (R) is true

3. Both (A) and (Rl are True and (Ri is the correct explanation of {A}

4. Both (A) and (R) are True and (R) is not the correct explanation of (A)

2. Assertion: - (A) Maharashtra is the most unurbanized state in India.

Reasoning: - (R) In Maharasht ra 45.2}%population lives in towns and cities

.Options- 1. (A) is true but (R) is false

l;,: 
2' (A) is false but (R) is true

3. Both (A) and (R) are True and (R) is the correct explanation of (A)

4. Both (A) and (R) are True and (R) is not the correct explanation of (A)

3. Assertion: - Median is also known as D5(fifth decile)'

Reasoning: - Ds(fifth decile) divides the data into four equal parts.

Options- 1. (AI is true but.(R) is false

2. (A) is false but (R) is true

3. Both (A) and (R) are True and (R| is the correct explanation of (A)

4. Both (A) and (R) are True and (R) is not the correct explanation of (A)

4. Assertion: - Medium of exchange is the secondary function of money.

Reasoning: - Money is generally accepted by people for exchange.

Options- 1. (A) is true but (R) is false .

2. (A) is false but (R) is true

3. Both (A) and (R) are True and (R) is the correct explanation of (A)



4. Both (A) and (R) are True and (R) is not the correct explanation of (A)

5. Assertion: - Economic development has a Qualitative dimension.

Reasoning: - Economic development includes improvement in health facilities.

Options- 1. {A} is true but (R) is false

2. (A) is false but (R) is true

3. Both (A) and (R) are True and (R) is the correct explanation of {A}

4. Both (A) and (R) are True and (R) is not the correct explanation of (A)

Q.1.8. Find the odd words out. (05)

1. Black money encourages..,.

a) social instabil ity blSmuggling

c) Economic growth d) CorruPtion

2. Averages.. . . . .

a) Mean b) Mode

c) Median dlQuarti le

3.  Educat ion. . . .

a) Primary education b) Secondary education

c) Adult education d) Double education

4. Mod'ern Economist

a) Kautilya b)Adam smith

c) Dr. Marshall dlLionel Robbins

5.Economic Goods.. . . ' .

a) Bike b) mobile

c lA i r  d )Pen

Q.2.A. ldentify and Explain the Concept. (Any two) (04)

1. Increase in the Real National Inco.me of the country over a period of time.

2.Ramrao provides coal from his shop to villagers in exchange for rice.

3. Rudra distributed his birthday cake equally among 10 friends.

t;



Q.2.B Distinguish between (any two) (04)

1' productive agricultural credit and Unproductive agricultural credit.

2. Quarti le and decile.
3. Metallic Money and metallic coins.

Q.3. Answer the following questions. ( any two) (08)

l.Explain the types of Agricultural credit in lndia.

2. Explain the general problems of the barter system.

3. Calculate P70 for the following data

Profit in
crores

0-10 10-20 20-30 30-40 40-50

Factories 15 24 18 25 18

e.4. State with reasons whether you agree or disagree with the following

statements. (any two) (08)

1. Wants are unlimited.
2. .According to prof Walker "Money is what money does".

3. Short term loans are for a period of five years.

e.5. Study the fotlowing passage, table,and answer the questions given below it.

(08)

(any two)

L. Black money is the income that is earned illegally that is not reported to the

government for tax purposes. lt is usually in cash and is accumulated by

criminals, smugglers and tax evaders. To curb black money, countries can

increase tra nsparencyrincrEase accountability, a nd enforce laws more

strictlY.



a) What is Black moneY?

b) Who is involved in illegal activities?

c}suggestHowgovernmentcontro|s i | |ega|act iv i t ies

01
01
02

2. According to Lionel robbins

,,Economics is a science which studies human behavior as a relationship

between... . . . .and scares " '  which have alternative uses"'

a) complete the definition and rewrite it . - . , 
01

b) Asper definition human wants are unlimited' (True or False) 01

c) Asper definition means are unlimited. (True or False) 0t

01
d) what are gradable on the basis of priority'

07
marks

a) Find ou{Range"for above data'

b) find out(N) value sum of frequency

c) calculate the P50 value '

Q.6. Answer the following in detail ' (any one)

l.Explain the sources of agricultural credit in India'

01
01
02

(08)



2. Calculate Q3,D5 for the following data'

t " :

I

Rainfall
(in cm)

20-40 40.60 60-80 80-100 100-120

2 L2No of
Years

5 20 TL
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a. 1 (A) Read the following extract and then do all the activit ies:

On another f ront ,  'C'  Company and Ghatak (Commando) platoon under
Lieutenant Balwan Singh also surprised the enemy, this time along the diff icult
northeastern spur and obtained a toehold just 30 meters from the top.

At 0400 hours on 4 July, after a carefully orchestrated arti l lery bombardment,
Sachin Nimbalkar and Balwan Singh along with their  men approached Tiger Hi l lTop by
climbing a sheer cliff and caught the enemy unawares. After a spell of hand-to-hand
fighting, they succeeded in capturing the objective. Although 18 Grenadiers held the
top now, l inking up with them was not easy. When the init ial surprise wore off, the
enemy started gearing up for launching counterattacks.

One of the most diff icult tasks during the course of a battle is to maintain one's
hold on the ground captured, before the next assault can be launched. Throughout the
next morning arti l lery duels continued. Casualties mounted on both sides. The
Grenadiers hung on to their precarious perch with grit and determination. Grenadier
Yogendra Singh Yadav and his team members exhibi ted except ionalcourage dur ing th is
assaul t .

At this stage, 8 Mount Division realized that it would not be possible to evict the
enemy from Tiger Hil l completely as long as his supply l ines along the western spur
were intact. Mohinder Puri and M.P.S. Bajwa then issued orders to 8 Sikh to attack and
capture Helmet and India Gate (both located on the western spur) so that enemy
reinforcements to Tiger Hil l Top could be prevented. The move was also intended to
cut off the enemy's supply route.

QUESTTONS:

A1. Rewrite the given statements in their order of occurrence:

a. 8 Mount Division realized that supply l ines had to be cut off for the enemy to be
evicted.
b. At 0400 hours on 4 July, after.sheer cliff was climbed and the enemy were caught
unawares.
c. during the ferocious arti l lery duels, the grenadiers hung on their precious perch with
gr i t  and determinat ion.
d. 8 Sikh was ordered to attack and capture Helmet and lndia Gate.

A2. Based on the extract write the actions of the following personnel: (any one)
2

1-.  Sachin Nimbalkar and Balwan Singh
2. Mohinder Pur i  and M.P.S. Bajwa
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A3. Why did the Indian army Want to cut off the enemy's supply route? 2

A4. Would you tike to join the Indian Army / Navy / Air Force? lf not, suggest other

ways in which you coufd serve the nation. 2

A5. Guess the meaning of the following words2 2

i. Orchestrated -

i i .  Spe l l -

A5. Do as directed: 2

i. Casualties mounted on both sides. (identify the tense)

ii. They succeeded in capturing the objective. (Pick out & write gerund from the

sentence)

(B) Textual Grammar:

t. Further advance was stalled due to accurate fire by the enemy.
(Change the voice)

2. His approach took the enemy by surprise.

{Rewrite using the underlined word as a verb)

3. Despite heavy causalities, 8 Sikh its exploited its success up to Helmet and

captured this objective on 5th July.
(Rewrite beginning with 'Even though...')

4. I duly informed Brijesh Mishra and the Prime Minister, who was scheduled to

address a public meeting in Haryana at 1000 hours.
(Rewrite using 'as well as... ')

I
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a. 2 (A) Read the following extract and then do all the activities:

I could only wait, as one

Who watched, wandering, while Time and the rain

Made a miracle f rom green growing pain""" '

I went away next Year
I  Spent a season in Kashmir

Came back thinner, rather Poor,
But richer by a cherry tree at my door.

Six feet high mY own dark cherrY,

And I could scarcely believe it-a berry.

Ripened and jeweled in the sun,

Hung from a branch-just one!

And next year there were blossoms small

Pink, fragile, quick to fall
.At the merest breath, the sleepiest breeze. ..."

I lay on the grass, at ease,

Looking up through leaves at the blue

Blind sky, at the finches as they flew And

flitted through the dappled green.

While bees in an ecstasY drank

Of nectar from each bloom and the sun sank

Swiftly, and the stars turned in the sky,

And moon-moths and singing crickets and I

Yes, l ! -  praised Night and Stars and tree:

That small, the cherry, grown bY me.

QUESTIONS:

State the reason / consequences / effects of the following:

i. The cherry tree blossomed

Name and exptain the following figures of speech.
'Came back thinner, rather Poor,
But richer by a cherry tree at my door'.

How does the poet convey that a happy feeling in his mind

beauty around him outside?

1. State whether the statement is true of False. 2

a. The blossoms are fragile.

b. The poet was ecstatic at the sight of the cherry tree'

Compose a poem of four lines with or without a rhyme scheme, on 'TREE"

10

2
2

2

is matched by

2

2.

3.

4.

5 .
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q. 2 (B) Read the following extract and write the poetic appreciation with help of

the foltowing points: 4

Between Nose and Eyes a strange contest arose, -

The spectacles set them unhappily wrong;

The point in dispute was, as allthe world knows,

To which the said spectacles ought to belong.

So Tongue was the lawyer, and argued the cause

With great deal of skil l , and a wig full of learning;

While Chief Baron Ear sat to balance the laws,

So famed for his talent in nicely discerning.
' ln behal f  of  the Nose i t  wi l l  quickly appear,

And your lordship,' he said, 'wil l undoubtedly find,

That the Nose has had spectacles always in wear,

Which amounts to possession time out of mind.'

Then holding the spectacles up to the court,
" 'Your lordship observes they are made with a straddle

As wide as the ridge of the Nose is; in short,
Designed to sit close to it, just l ike a saddle.

'Again would your lordship a moment suppose,
('Tis a case that has happened, and may be again)

That the visage or countenance had not a Nose,

Pray who would, or who could, wear spectacles then?
'On the whole it appears, and my argument shows,

With a reasoning the court wil l never condemn,

That the spectac[es plainly were made for the Nose,

And the Nose was as plainly intended for them.'

Then shift ing his side, as a lawyer knows how,

He pleaded again in behalf of the Eyes:

But what were his arguments few people know,

For the court did not think they were equally wise,

So his lordship decreed with a grave solemn tone,

Decisive and clear, without one if or but-
That, whenever the Nose put his spectacles on,

By daylight or candlelight-Eyes should be shut!

Points:
*About the poem and title *Theme of the Poem *Poetic style, language,
poetic devices *Special features *Message/values/moral of the poem
*Your opinion of the poem

t

.

Q 3 Writing Skil l: @8
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(A) Emailwriting:

Write an e{nail to the bookseller for ordering some books for your further studies.
Use the following points. 4

Email: iadu@booksellers.com. give the list of the books, ask some discount, ask about
any offer etc.

(Bl Film Review:

Write a film review of any movie which you have seen recently with the help
following points in about 100 to 150 words.

1. Storyline
2. Producer
3. Director
4. Music Director

. 5. Characters/ casting (major and minor)
5. Setting / location
7. Conflict
8. Message
9. Significance of the title.

OR
(B) Expansion of idea:

Expand the following idea with the help of the points given below: write your answer
in about 100 to 150 words

'Necessity is the mother of invention.'

* lmportance of invention * Use of term 'Mother'
* Human tendency of invention * Conclusion

* Examples of proof

4

of the

t

Q4 Genre-Drama:

{A) Complete the following table with help of the clues
Clues: Drama with upper class ethos, lbsen-Norwegian
Miracle plays

08
provided. 2
drama, A Treatise on theatre,

El izabethan &
Restoration

Theatre

Modern Theatre Indian Theatre English Theatre

Comedy of
manners

Morality plays

Look back in anger Sanskrit drama
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(B) Complete the following tree diagram with help of clues provided. 2

Clues: Murder in the Cathedral, Robin Hood, Duchess of Malfi, A Doll 's House, Waiting

for Godot.

HISTORY OF ENGLISH DRAMA

MedievalPeriod Post Modern Era

(C) Rising of the Moon:

.1. Write a character sketch of the 'Man' in about 50 words.

2. Explain the following dialogue in about 50 words.

Man: Wil lyou let me pass, or must I  make you let me?

Q 5 Non-Textual Grammar: (Do as directed)

i. 'Susan gave me a real nice bouquet of flowers.'
(Spot the error in the given sentence and rewrite the correct sentence)

ii. I spent my high school years in Calcutta. [Rewrite it using past perfect tense]
i i i .  l t is paradoxical that average consumer cannot decide which

technology wil l offer him _ highest standards of'water purif ication.

lFil l  in the blanks with appropriate articles]
iv. The lady took the girls a hall where they met a few more girls who

were waiting _ her instructions.
lFill in the blanks with suitable prepositions]

===================================================================

2
2



French 50 marks Fyjc Terminal epm

QlA. choisissez une bonne rdponse et r6crivez la phrase (4 au choix)

1. En Franue, on n'a pas de cours, apr€s-midi.

a. samedi b. dimanche c. mercredi

2. Le Cl6zio est un_ frangais.

a. chanteur b.6crivain c. acteur

3. Pierre Curie est un scientifique _

a. allemand b. mauricien c. frangais

4. est une rividre en France.

a. LeJura b. La Seine c. Le Havre

S. A la fin du lyc6e, on passe un examen important, le

a. Brevet b. Hsc c. Baccalaur6at

Q1B. Repondez aux questions suivantes par des phrases complEtes (3 au choix)

1. Oi habitez-vous?

2. Quelle est votre nationalit6?

3. Nommez deux parties du visage

4. Combien de membres y a-t-il dans votre hmille?

5. A quelle heure, allez-vous au lp6e?

6. Au lycde, oir joue-t-on au foot?

Q2. Grammaire-

A. Compl6tez le texte avec les mots donn€s:

(paresseux, €tudier, onze, musiqug lit, sa, en, avec)

Mon frdre est trds tl reste au - dans _ chambre jusqu?_heures.
et il lit (reads) les magazines et il reste toute le temps pyjamas. ll d6teste

jouer _ ses amis.

B. Mettez les verbes entre les parenthEses au pr6sent:

1. Dimanche nous (al ler)au cinCma.

2. lls (attendre) le train depuis une heure

3. On (d6courir) une ville quand on marche."

4. Abel et Aisha (faire) leurs dtudes sup€rieures en France.

5. La France (avoir) la forme d,un hexagone.

(6)

(4)

ll ecoute de la

_ et aime

(s)



C. Mettez au pluriel

1,  Voiciun belhome

D. Mettez au ndgatif ! .

1. ll mange des biscuits

E. Mettez i l'interrogatif.

1. A'isha arrive I l'heure.

F. Compldtez avec un mot intdrrogatif

1'- enseigentils i l'universit6?

2. _ est l'amphithdatre?

G. Compldtez avec un bon adjectif:

(1)

(1)

(1)

l2l

(2'l

r . i ;

1. Le gargon joue dans un iardin. (petite, petit, grands, grand)

2. Ce sont de _romans_ (intdressantes, int6ressants, bon, bons)

H. Compldtez avec un article qui convient: (2)

1. Nous expliquons le probldme _ fil le ( au, aux, i 1,, i la)

2. Marion est la fille_ Mme Martin {du, de la, de 1,, de, des,)

l. Compl6tez avec un adjectif possessif: t2)

1. Elle regarde _horloge.

2. J'adore famille.

Q3 Vocabulaire:

A. Compldtez la phrase avec un mot ou une expression juste:

1. Oi le frangais est une langue officelle, ce sont les pays

2. La fille mon frdre est ma

3. ll y a une orientation pour les nouveaux €tudiants au

B. Chassez l' intrus

1. voiture, biblioth&que, laboratoire, amphith66tre

C. Reconstruisez la phrase:

1. ces/l es/activit6s/adorent/enfants

D. Reliez les colonnes

1. Voici un cadeau pour toi a. Bon Voyage!

2. Je vais A la France pour les vacances b. Joyeuse ann6e!

c. Merci, c'est gentil.

17l

I
pt,



Q4. Lisez le texte et r6pondez aux questions suivantes: (5)

Antonio et Maria habitent i Rome, en ltalie. lls voyagent beaucoup. Aujourd'hui , avec Sylvie,
une amie frangaise, ils visitent Paris. Maria aime beaucoup Paris. Antonio aussi aime Paris, rnais il
pr6fAre(prefer) Rome.. i

A. Questions:

1. Dans quel pays habitent Maria et Antonio?

2. Quelle ville visitent-ils?

B. Vrai ou Faux

1. Antonio et Maria ne voyagent pas

2. lls visitent Paris avec Sylvie. -

3. Sylvie est italienne.

Q5. Eoivez un paragraphe sur le sujet suivant. (4)

P16sentez-vous !

Q6. Traduisez en frangais: {4 au choix) (4)

1. What time is it ? - lt is noon
' 2. Do you continue to study at the University?

3. There is a big library behind the amphitheatre.
4. Michel is my brother-in- law.
5. There are some beautiful flowers in the garden.

i.



PTVlfs M. L. DAHANUKARCOTTEGE OF COMMERCE

FYJC TERMTNAL EXAMINATTON

SUBJECT: GERMAN MARKS:50

1l Beantworte'vier der folgenden Fragen.

{Answer 4 of the following questionsl.

al Beantworte die folgenden Fragen.
Answer the following questions.

a) Sehreibe zwei Sitze tiber deine Schule.
b) Wann hast du frei? Was sind deine Hobbys?
c) Wie groB ist deine Wohnung? Wie viele Zimmer hat sie?

ci) VJelche Sprachen sprichst du? V*'ie hei8t deine Muttersprache?

ei Wo wohnen deine GroBeltern? Wie alt sind sie?

2l Ues den folgenden Text und bearbeite die Aufgaben. 08 Marks
fRoar{ tho fnl lnrarinp toxt anr[ ccmnloio the t=sks.l

lch bin Daniel und ich bin 15 Jahre alt.  lch mag Sport sehr gern, ich fahre viel Fahrrad. Am
Montag spiele ich FuBball und am Wochenende schwimme ich oft.

. Meine Schwester ist ganz anders. Sie mag keinen Sport. Sie kocht gern, das finde ich super.
Mein Bruder ist erst ein Jahr alt,  er schli f t  noch ganz viel. Mein Papa arbeitet viel,  das ist
nicht so toll. Aber er sagt, sein Beruf ist interessant und wichtig, Er ist Arzt von Beruf und
ksmmt spSt naeh Hause, nur am Woehenende hat er- Zeit. Und meine Mutter ist

Musiklehrerin. Sie liebt Musik und singt, zu Hause und in der Schule. Sie ist lustig und hat
immer Zeit f0r michl

08 Marks

O2 Marks

i) Wie alt ist Daniel?
ii) Wie viele Gesehwister hat er?

b) Richtig oder Falsch? Bitte korrigiere die falschen Sdtze. O3 Marks

{True or False? Please correct the false sentences.}

i) Daniel ist sport l ich.
ii) Seine Mutter hat viel Zeit filr ihn.
iii) Sein Vater Kocht gern.
iv) Seine Schwester schlift viel.

cl Suche aus demText.
(Search from the textli

i) 2 Berufe ii) 2 Hobbys

O3 Marks

lrJ"*t^L xJ,^o^*
i i i )  2 .  , - r  r r i i . ' l



3l Wortschatu

al Was passt nicht? {Find the odd one out'}

i) Vater, Lehrer, Arzt, Pilot

ii) Vormittag, Mittag, Geburtstag, Nachmittag

iii) Kuli, Sofa, Lineal, Bleistift

iv) Wohnzimmer, Hobbyraum, Kitche, Kins

bl Was passt?

10 Marks

02 Marks

02 Marks

0? Marks

02 Marks

02 Marks

i) wohnen: Wohnzimrner
i i j  Juni ,  Ju i i :Sommer
iii) Rot, Blau: Farbe
iv) ich: Mein Name

e) Wie spiit ist es? Sehreibe in W6rter.
What time is it? Write it in words.

i i  M.3O PM

d) Ergdnze das richtige Wort.
Fitlin the corr€€t word-

schlafen:
Dezember, Januar:
Fri ihl ing, Herbst:
er : Name

ii) 07:15 AM

i) Das ist mein hier sehe ich fern.

(a. Arbeitszimmer b. Wohnzimmer)
iil Das ist die , hier koeht meine Mutter das Essen.

'{a. Kl iche b. Keller)

el Schreibe die Gegenteile.
Wrlte the oPPosites.

i )  vo rx - - iii) langsam X ---
iv) klein Xii) teuer X

4) schreibe eine Emailan deinen neuen Freund oder deine neue Freundirr iiber deine Familie

und benutze folgende Punkte. 4-5 Setze' O5 Marks

Write an ennai! to yotlr new friend about yaur fannily and use the following palnts' 4 - 5

sentences.

Anhaltspunkte: Wie viele Person"ni Alt"r, Namen, Berufe, Hobbys
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5l Grammatik 15 Marks
a) Schreibe die richtige Verbform. (Nur 3) 03 Marks

Write the correct form of the verb. (Only 3)
i) lch - jeden Tag 2Stunden {fernsehen}
ii) -ihr Lehrer"? {sein}
iii) Du sein Auto sehr schnell. (fahren)

iv) - dein Vater bei Siemens? tarbeiten)

bl Ergfinze die Possessivariikel. {Nur 31 03 Marks

Write the Possessive Article. (Only 3|
i) Das ist Peter und das ist - Freundin Anna. (his)

ii) Herr Bauer, wo ist Auto? (Your)

i i i )  - Wohnung ist klein aher schon. {our}
iv) Frau Schmidt schreibt Adresse hier. (her)

03 Markscl ErgEnze die Personalpronornen. {Nur 3)
Write the Personal Pronouns. (Only 3l

' i) Der Kleiderschrank ist neu ist teuer. (a' Sie 'b. Er)

ii) Das Handy ist preiswert. tch kaufe {a' es b. sie)

iii) Die Tasehe ist seh6n aber- ieh brauche - nieht. {a' es b. sie}

iv) Kinder, warum macht eure Hausaufgabe nicht? (a. ihr b. lhr)

d) Bilde Fragen. (Nur 3) 3 Marks

Form questions. (Oniy 3i
i) Ja, er ist Arzt von Beruf. iii) Moreen fliege ich nach Paris.

i i)  Klara studiert in Berl in. iv) Darnien singtsehrgut.

e) Koniugiere das Verb und bilde Stltze, tNur 31 03 Marks
Conjugate the verb and construct sentences. (Only 3l
i) thnen / Wie / es / gehen?
ii i  aufstehen i um 6 Uhr i  Er.
iii) Wir /eine Spiilmaschine / brauchenffiir meine Kiiche.

iv) sein /von Beruf /Frau Bauer/ Lehrerin?

04 Marks6) Wie sagt man das auf Deutsch? {Nur 2}
How does one say that in German? (Only 2l

i) She buys a Pizza and a Cola.
ii) The film begins at 5 pm.
iii) Peter is sixteen years old.

. ' 3
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Q.1. Fill in the blanks:-

1. RDBMS stands for

05M

2. - ensures that all operations within the work unit are completed successfully.
3 . maintains a copy of al l  the emails on the server.
4. The are programs that are run when user types command name.
5. is one of the most popular GNU/LINUX distr ibution.

Q.2. True or False:- 05M

t. Data Manipulation Language is used to control user access in a database.
2. Record is also called as a column.
3. Relationships l ink data from individual tables to increase the usefulness of the database.
4. Linux operating system is free from viruses.
5. Bit is a binary digit that holds only one of two values.

Q.3. Multiple choice questions (one answer):- 10M

1. The - manager updates the operating system as well as other software periodically.
a. Linux b. Repositories c. package d. proprietary

' 2. ISP stands for _
a. Internet Server Provider b. Internet Service provider
c. lnternet slow protocol d. Internet Service protocol

3. loT stands for_
a. Intelligent et of Things b. Internet of Time c. lnternet of Things
d. lnternets Of Things

is the delivery of computing services over the Internet
. a. Green Computing b. Data Analytics c. loT d. Cloud Computing

5. is an input device that enter number and character
a. Moqse b. lnput c.  Input Unit  d.  Keyboard

6. SQL stands for__-,_
a. Structure Query Language b. Structured euery List
c. Structure Queue List d. Structure queue Language

7. is the primary data model, widely used around the data storage and processing.
a'  Storage and Processing b. Relat ionaldata model c.  Data model d.  Model

8. holds t ime.
a. TIME b. CHAR c. TIMEfl  d.  VARCHAR

9. Record is also called as a _.
a. Tuple b. Table c. Record d. Column

10. - relationships can also viewed as Many-to-One relationships, depending on
you look at it.
a.  One-One b. Many-Many c. Many.One d. Database

4.



Q.4. Multiple choice questions(select two answer):- 10M

1. HTTP is an internet-based protocol for _ and _.
a. Sending b. Transfer c. Manipulate d. Receiving

2. Primary Memory holds the-and - on which computer is currently working.
a. Instruction b. Data c. programs d. RAM

3. Data model describes the method of _ and _ the data.
a. Creating b. Processing c. Storing d, Retrieving

4. A Database consists of one or more- according to which _is stored in a table.
a. Columns b. Tables c. Rows d. Data

5. Table consists of and _.
Row b. Column c. Key d. Values

Q.5. Multiple choice questions(select three answer):- 06M

1. A computer network consists of a collection of
a. WAN b. printers c. computers
d. other equipment e. LAN

2. Three types of relationships in relational database design
a. manipulate b. retr ieve' c. one to one
d. many to many e. many to one f.

Q.6. Match the following:- 04M

Column A Column B

l.delete a. processed data
2. information b. collection of software
3. system software c. deletes data from a table
4. repositories d. operating system

Q.7. Answer the following (any 5):

1. Define primary key and foreign key.
2. Explain DML commands
3. Discuss the various Data type.
4. Explain application of DBMS.
5. Explain types of primary memory.
6. Write down history of lnternet.
7. Explain various career opportunities in lT.
8. Explain advantages of GNU/LtNUX.

10M
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tu-di

r;flffi ryr$ €idrfi +arftqrq 3G'sr frtTrdr *idtff g*n fiEr oq t "e

3fdrd s}qt-{tq FqE s-{r.

q. '6Trfi srrfi qr qr€q5ra+rdra ar&t:lclr-qraff 3{rtTrt 1;surt=tt aqffi+* (8)

zitEm{nd R6I.



1fr .r. Te" aia T-fr drnr. (c)

5&" g.-dqqlzqr 3nqrt q-ftiqrf,*-ffim Tffig*t to t tlrffira

R6r.

q-*tiqril+- ryrS........... qrqf, 3lqn!-d'S.............Egdrdd ft-a;uqr-qr Tideit-S

dk.............31r-{qr*f,dr.............srctur 3TrF F$qrur qlcn eT{.. 3i-iqrqffr

:dqe aTt"rril {r qFrr. . . . . . . ...Gt{fr etfi. .. . . . . .. .3lltrt uI. . . . . eqfrEtlmrEr

TRIq..........$leqBeErs.

?. gfr" ga-E-qiuqr 3Trtnt '193ffi€fi 6rd-n Frsrr.
'F * 3i169......

+rflrsr& 3fl-fiTm- sgunt +tqrFt..... ldFder .......tBsffi€r q

. {R6 dciq.

a. gSla qr+srlniqr 3p1 mr+ qqlnrqd fr{"Ea RFr (?)

r.*aatrafr
qqtq - r. arftarur l. g:d fld a. srrifr dd

?. ffir mrtrt etu}
sqtq - t. qa d+dT 6)d ?. ?EI 3ftfF dTd 3. ffir rgr6f dli4
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TIME'Ahr 30 min

MARKS:50
INSTRUCTIONS:

1) Use of logarithmic table is allowed. IJse of calculator is not allowed.
2) For LPP graph paper is not necessary. Only rough sketch of graph is expected.

Q-1) A) Select and write the most appropriate answer from the given alternatives for

each question. (1 Mark each) (5M)

i) Write the conjugate of the following complex number 4+3i

A) -4+3i B) -4-3i C) 4-3i D) -3i

12 B -2ll
ii) The value of l0 

-3 1 |
t0  0 7 l

A) 42 B) -42 C) 2r D) -2r

t',: iii) If P3o - Dx,then x - -------

A)  |  B)2 C)3 D)4

iv) Find the range for the following data

17 5,172,1 90, 1 70, 1 85, 1 82,195

A) ls B) 2s C) 35 D) 4s

v) When the observed and expected frequencies completely coincide, yz will be

A) -1 B) 1 C) greaterthan 1 D) 0

B) State whether the following statements are TRUE or FALSE. (1 Mark each) {4S{)

i) G.M. of two positive numbers whose A.M. and H.M. are 75 and 48 is 60

ii) IfA and B are two non-empty sets,

thenn(AxB) :n(A)*n(B)
{ .

" iii) The frequency curye of which frequency distribution is bell shaped is symmetrical.

iv) Inter quartile range :ry



C) Fill in the following blanks (lMark each ) (4 M )

i) Percentiles divide observations into - equal parts.

ii) If Ske ) 0 ,then distribution is -skewed.

iii) The value of the determinant is -------, if any two rows are identical.

iv) For a G.P. i f  , :1 , d:9,then t7 : --------

Q-2) A) Attempt any SEVEN of the following questions ( 3 Marks each ) (21 M)

i )  F indthevalue of  x3 -xz *x *  46, t f  x  =2*3i"

ii) Find k if the equations
x-3y+ 4:0 ,4x-7y* k:0,3x + 2y-10:0 are consistent .

iii) Find the nth term and hence find the 8th term of the H.P.

! . I  L  1
s  t  10 '  l s  ' zo  ' " "

iv) Write the relation in the Roster form. State its domain and range.

* :  
{(o ,)  /o I  a --5, aeN}

v) IfA and B are subsets of the universal set X and n(X) : 50 , n(A):35 , n(B) :20

n(A' fl B'):5, find 1) n (Au B) 2) n (A n B) r) n (A' n B)

vi) Calculate D6 and Ps5 fo4 the following data:

7 9,82,3 6,3 8, 5 r,7 2,68,7 0,64,63

vii) Calculate. Q.D. for the following data:

i , viii) Compute the variance and S.D. for.the following data:

ix) For the data set, sum of upper and hower quartile is 100, difference between upper and
lower quartile is 40 and median is 30. Find the coefficient of skewness.

X 24 25 26 27 28 29 30
F 6 5 a

J 2 4 7 a
J

X 1 a
J 5 7 9

F 5 t0 20 10 5



x) Following table shows the classification of applications for secretarial and for sales

positions according to gender.

Calculate the value of Xz statistics.

Offered Denied
Male 75 150

Female 25 50

B) Attempt any FOUR of the following questions. (4 Marks each ) (16 M)

i) If ar is the complex cube root of unity, find the value of

Dr",+ L

2)r ' *a3*aa

3) (1 + (l')3

ii) By using properties of determinant prove that

l* '+y y+z z+xl
.: I z x v l:oIr L t r

iii) Find the sum to.n terms

8+88+888+8888+

Help C.A. institute to decide cut offmarks for qualiffing the examination when 3olo students

pass the examination.

v) For a distribution, mean:60, median:I5 and variance:900.Find Pearsonian coefficieni of
skewness Skp and interpret the result

vi) Following data gives height in cm (X) and weight in kgs (Y) of 20 boys. Prepare a
bivariate frequency table taking class intervals 150-154 ,155-159,......etc for X and
35-39,40-44,--:--"1" for Y. Also find marginal frequency distributions.

(152,40) (160,54 ) (t63,52) ,(150,35) ,(154,36) ,(160,49) (166,54) (157,38) (159,43)
(153,48) (rs2,4r) (1s8,s1) (1s5,44) (ts6,47) (rs6,43) (166,s3) (160,s0) (1s1,39) (153,50)
(158,46 )

iv)The distribution of a sample of students appearing for C.A. examination is :

Marks 0-100 100-200 200-300 300-400 400-500 500-600
No.of
Students

130 150 190 220 180 130
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Ql A)Answer in one sentence:

1. What is non- economic activity?
2. What is the meaning of peddlers?
3. Give the examples of Modern Small-Scale lndustry.
4. What do you mean by partner -in -profit only?
5. What is the meaning of private company?

Q1 B) Write a word/ term/phrase, which can substitute each of the
following statements:

(05)

1. An occupation by which a person agrees to provide expert services for a fee.
2. A retailer who displays his goods on the road.
3. A sector which is the backbone of rural India.
4. A partnership agreement in writing.
5. The motto of the co-operative society.

QlC) Select the correct option and rewrite the sentences:
1. A Joint Stock Company is an artificial person created by

(Law, Articles, Memorand um)
2. Small scale business are

(money, power, labour)
retailers deal in particular goods.

(General stores, Speciality shop retailers Secondhand goods shops)
4. Commerce is a branch of

(business, industry, trade)

Q2 Explain the following terms/ concepts (Any 2):
1. Advertising
2. Nominal partner
3. Employment
4. Home trade

Q3 Distinguish between the following: (Any 2)
1. Business and Cpmmerce
2. ltinerant retailers and Fixed shop retailers
3. Private company and Public company

(04)

Q4 Answer in brief: (Any 2) (08)
1. What is primary industry? Explain the different types of primary industry?
2. Explain the features of supermarket shop?
3. Explain the importance oi small-scale industry?

Q5 Justify the following statements: (Any 2 (08)
1. There is separation of ownership and management in joint stock company.
2. Changing fashion is one of the important causes of business risk
3. General stores are generally situated near residential areas.

(0s)

(04)

intensive.

3.

(08)

QG Answer the following: (Any 1)
1. What is profession? Explain the features of profession?
2. Explain the flrst and second stage of import procedure?

(08)
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Q1. A. Answer in one sentence. (5)

1.Who can appoint a personal secretary?

2.Who is a promoter?

3.Which individuals cannot become a member of a company?

4.How many member/s can be there in a one person company?

S.Which document contains the aims and objectives of the company?

B. write a word or a term or a phrase which can substitute each of the following
'statements. (5)

1.The senior most family member of joint Hindu family business.

2.The body elected representatives of company.

3.An association that aims to protect the interest of its members.

4.The persons who have entered into an agreement of partnership.

5.The birth certificate of a company.

C. Select the correct option from the bracket. (4)

Group A

l .Minor

2

Group B

Public company

3. lcsl

4.Private company

(Minimum 7 members, cannot become a member of a company, company secretary,

Minimum 2 members)



Q2. Explain the following terms/concepts' (Any 2) (4)

l.Confidential Officer

2. Perpetual succession

3.Promotion

4.Name clause

Q3. Distinguish between the following' (Any 2)

1. Memorandum of Association and Article of Association

2. Director and Managing Director

3.Personal secretary and secretary of Government Department'

Q4. Answer in brief. (AnY 2)

l.Describe any four qualities of a secretary'

2.Statethecontentsofcertificateofincorporation.

3.Statethestatutoryrequirementsinrelationtoprospectus.

Q5. Justify the following. statements' (Any 2)

l.Company has a distinct feature of separate ownership and management'

2.prospectus is an important document issued by a public company'

3.A secretary is considered as a paid employee

(8)
Q6. Answer the following. (AnY 1)

l.Define secretary? Explain lmportance of secretary'

2'DefineJointstockcompanyandExp|ainitsfeatures.

(8)

(8)

(8)
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grrrr: frr+m: - grrq dFri|q (04)
A \ Gq.1) sf) ffi' o{{frg|dl

q. 1) 3f|.)qn6fimqrq -qqql-tlT:qr€n fuc+at (s d:4) (2)

.Giftqt fr+rm: - rrgq | (14)
q'z ) st") qqiqiqB-drRHU'Sfr:gaal

GrR ?g,drd qlrr:rdfl Tqfvd: qrq {Mgz' Esh st gs.Er ar{rfr e-rfrr ils Hrqf
gffi gxgm+dT frEEi qfr qRrdn ortr q-6or+i qr \rcit 6qrf EEqf I €T qtsqrr€rd

EW trt*rg{q|.f.*o grl qEeT tr6dT qTrK-"oqt?r+qil qrff{qiunq 6cEi gTr{:?
es+*gtqBqq Uqoqr qsq q-S Fftq' o-l$wsqa," Eft Ugr qrqqrfr
mHRstrH qor q* qqSTEm trf,rRd: r qqgo q;i WT o.l$-{ t5d: qqe.: 6rdt-6,
lfdl1 "$T[: Hfiqf,Ifud;?"

er+derT{ | ( 3)

TUffiTgrrdl
1) qts'ftFfrqrdqerfua:u
zl tqrF'acnfft{s q*rMri ged I

qrq-f,{fiI{+\dtqrf qEqf t
3) E.: tFcSfre

"t1-4-{ !p-c[: t{qTE qgJfo6. ?"

qr,sETHq ( 3)

r I rro+orqi gl \rdit qrEi e{qf | ( gI E4-} "gffi" qr€€l sci *qTa tl

zlffifuccat

(2)

ffi
fdrsBdRiq



3)q-qiqrd:aqforffd1-irs.-FTf,f, -qeqfr rc*ot

q.2 eD flqqqirrqls{trr{ftrcrat (4)

lfi Tiqr-qTtrqq qrorRarqr: qFfffiqui oaufiq{r tffirnw q }qei Twrf,qrN
Strdr .rrD g wgM q.rRdr: qdRsqr' €qaurwn quffUd elcffi;t srcT: it-wn:
qqaqrorn-cqr tiq-d ufr enggr'l riqi-{ Tf,*lRai 5{s-t: ERrs-qq eiR rft-*-d
qrffi qR ffiq qrufrq-qffiR-€Rn gRT vqr-qflf,rfrdr-G{tqnrdtq: qfr
3{I{&I: I

q.2 $ qT€{qqNqrs{rc{sfr-sFdl (4)

rl nH c+qr 3rdEf,dl,Eftl
2) \rdrfliqRq trdfraHqtqflqio: dq'z

qfrurftrrm: -tr{q I (e)
q.3 .l[) q€lRTqrddr1;Ir{gr: ?-f,{:gffil

sq-*RTl dtrdrq sfirrnts ffiq r

Er] tr qg-dfu ergq ddq*ar rr

Wffiqs{ftIlWf *aFroqfrt

flf,du{. fuoUq i-q oq-{ frFrfrRq: tl

serrT: €Eqrstfr qWr@TR $-s+{ I

Mtiql-Illgtfr?rrcT@TRl{tRilq.tl

ero-&urrq (3)

1. WffiTfrKdl
Et1q:F-eior{ffiEz

z. ETqq gqRfR -dI sai qr q-sdi Rrc+a t
B.rq:d{-{Gflsrfrr

3. qrclt*Fiq{*Tl
gd *a-"qsf,ffir - .' Frrqfr -->

1. sqlqTdfi.{rdftrc*at
d{T- ------------- l

z. qRBniigrudl
Tqtfd-sq = --------- + ----------- |



q. 3 3{D qqiqi qBdt e;;rafffi: s-s-d sfrrcir Tils{ql{rqqr s{mr{ frRild il (4)

vgE: Wqsr€fr qqT q-rt qgetq I

aqr qft qil€E qR T6ft vfudr: tl

ut{I $sqsTfl{: ---------qrt sE-d1E, clqT ------ - qfu

Tgef: frrfm: - r{ffir{ffi; 191
q.4) 8{eilRffEr: FT{: geTl

.lo ;rH-sdar-{drRr6i E{TkT| (8 d: 6) (3)

$ qtHklsR gt€f, I (a d: 3)
1. atulffirqq-I-qRI f qrsrq+qfu*dqatt
2. qr qdt qrri Esqf r ( ers-.trofr qRtq&rd l)
3. r* wRie: flrrT {fW: Esfr qt ( s Fqrgqdl)
4. qfrftrfl-ri o* fufforo: qfrd: I t qrrqqRr+fri gioa t)

wFT:fr+nq: -ffiqrm{tst

q.s ) rrflrqi qBdl sf,{rfu fr{{a t

t$n'fts{{tr; I
ffi -q qffimil qf,[,F-*' Efr ft mrfu=e :, €s: [ fr 6 -rlM:-<e : lnFr{ fqffi t *Es{t{s,{a

tffiq{?sft ruld-rrffiq$qrftfiq | !F: frflqa: qFffi"dalqTftr: twtn}'rmffiq'ql:
tffiqr*tc:; * fufr*'* rr$ftffiqeTT*Tsi rrqft r uqfr* wrffift-*rr *srft vrEqR t
ir€r firr{{sffq sft'ffi rrt{ffifrdr; fryi *q{?'ffi 1 :{q-q1q1: .13,Tli @{tal
qrr:fiq-Et xrdfffr{t sE{q aqi frTPcrqs-qpq*ri ellft- r sflffi?$t qTrtr{zl 61sft *qr Hft"r€: q
rrqft r sri g{F{trb qninq K sr: xqft r gs: kdrrc: rfifu *dl{r: S aTd
qiqfr | u{qr7aeftRr: {sruh' ftori rrwR e t

Fnq-flqrqfuqz
frHqfl{rFs'te-T?

(s)

,1.

2.

| (4 cT:3)



3. qR$ ftF srqRt
4. sriosftqu: rrqRz
s. Fl*ErffaRlqifu-qt

qg; ftr{:rT. - g1ft;gqftgq; 1e;
q.o I sFkitrtreiFrotETEqT{ffiqdl (8 d: 6) (6)

1 . TTrrTIdrs{Ht tE .................................... l
( glqtE:, TEdq', 3{Tfa-{l

2. @qffi'rH ..qRl
(qqft, *-'t|, q1qab

3. T.]EssflqDrf,qrsqffqal
(drwt, gqfrq-(,qgf,€)

4. H!pl: ..3qF{sE:qRl
fqq[, T[q, sfD

s. €Rat, .qRl
(frg:, ?tNI:, wI)

6. q@ .q6iqftfd{t
(qlrgl, Fslfg, Hrqrqsfl{rQ

7. ...............rf€Ffqfqrf,Wg tsKrT: I

t qrgurflFqE, ffi gqnlEl-f,q)
8. sh$rEsrffi-qr: EUf{ ......... T{Eswrqal

(sffi, oiRUqbSBrab

TrEfrT: frr+m: -qqbtrqtgl

q. A €rp'dqrflIni HTqfll.flqqT el-g{ki S€dl (5 d: 3) ( 3)

1. qREUfqfrsSTqnffil
2. +Aq-doK${qfrl
3. Aqil{qffqrffiqefrl
4. Tdqqqq qqrs odu' frqo: rrqR I
s. gqroq.qfDrrot: trqr: ftrm: l


